
1
Jun 26­10:50 PM

penalty=total deposit - principal value=
            =PMT*N-PV=532.65*12-5750=$ 641.80

Use the previous screen with N=1. 
Solve for FV= ­  $41,477.17

money towards interest= PV*r=50000*0.08=$4000

money towards the principle=PMT-4000=12522.82-4000= $8522.82

No, because the interest charged is calculated as 8% of outstanding principle, 
which is not constant for each payment (namely, it is decreasing.)

toward interest=(FV with N=1)*r= 41477.17*0.08=$3318.17

toward principle=PMT-3318.17=$9204.65

-------

12,522.82

12,522.82

12,522.82

12,522.82

12,522.82

50000

41477.18

32272.53

22331.51

11595.21

0

­­­­­

4000

3318.17

FV(N=2)*r=
2581.80

22331.51*0.08=
1786.52

927.62



2
Jun 26­10:54 PM

Total payments-Original loan=PMT*30*12-

To decrease the interest they end up paying on their house.
Indeed, new interest=total payments-original loan=
                                 =576.64*4*12+652.10*15*12-89363.43=$55693.29 less than 
the interest paid for 30years loan, which is $118226.97
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